(3) MAT-1

sifge arraar Qe
MENTAL ABILITY TEST

T UH-UA ¥ FeT 50 UI €| TS WY T 3k &7 2|
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W (1-4)/ Questions (1-4)

frdwr : W 1§ 4 7% YT A U oR-gn § W R, e e ) 9w ¢ e ae gue
fTEI(?)ﬁWW%IWﬁWW%#@ﬁWWﬁ@W?IWW
Y | | ‘

Direction : In each of the questions 1 to 4 a letter series is giy
missing shown by question mark ( ? ). This term is one of fou% s given under

it. Find the right alternative.

1. G,KO.8S, ?. 0
(1) (y W (3) 4 X

2. DX, HT, KQ, OM, ? |
() sJ (2) RK 3 (@) RJ.
3- H: D! A! Y: X! ?

1) X 2) W T 4 V.
4. KLE, IND, GPC, ? , CTA. \
(1) DRB (2) BSE \ )  ERB (4) ECR.
WS (5-8)/ Questions (5 - 8)

fRW : W 5 ¥ 8 7% AT W FE-Hoh & ¥, e ow @ @ & o geE
fog (2) & e T ¥ @ ¥ A et T R ot 1 @ v ¥ W e T
wHifsTT | K -

Direction : In e e questions 5 to 8 a number series is given with one term
missing s& estion mark ( ? ). This term is one of the _fou;' alternatives given _
under it. Findithe t alternative.
5. 4,925, , 121, 169.
(1) 36 (2) 49 (3) 64 (4) 81
6. 1,3,7 13,21, 7, 43,57 ‘
(1) 31 2) 29 (3) 30 4) 32
7. 5,3,10,8,17,15 ?. 24. "
(1) 25 (2) 23 (31 26 ) 4) 27.
8. 97 77,59, ?, 29,17. ’
(1) 34 (2) 39 (3) 37 (4) 43.
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MAT-1 | (4)

9,

10.

9 58 T uv ° 3 wYe IR I o frees 1 awr o § R T we # oenust Ol
AT €, Wl 8 o el el & P i g €1 wit st wt emgEs w9 we
Fite fo s-w ot g ™ w1 adh @ w9 W SR =T &, 9% 9%
WEIE: T e o B a
wUA: () W A, gfeEE E

() : P =, Mk &)

Preed: () . wh el e, g O\

Iy : 9 gisEE, g €
(1) wad frpd 1 T & 0
(2) hadt T=pY 11 T ® | Q
(3) wifrspe ] e EE € 0
(4) A a R 1 ek T @ AR 1 ae g %

In the given question there are tw ents and they have two conclusions
I and II. You have to take the given tements to be true even if they seem to

vary to commonly known facts. % tle conclusions and decide which of the
given conclusions logical s/ from the two given statements even
disregarding commonly kno

U
cts.
Statements : (i)

(i) Somé&women are educated.
Conclusions : (I) _a All educated women are intelligent.

I) @ 11 intelligent are women.
sion [ is true

omen are intelligent.

* (¥} Only conc
(2) - Only sion Il is true
oriClusions I and II are true

(3)
m conclusion I nor conclusion II is true. . )
ﬁﬁ%ﬂﬁ@m%ﬁﬁ*l iR 1 & T ) ol 7 e @ T I @ e

T ‘WS e ‘HER |
®U ; T T ATF el WU Y e 'R W An] ST 9
ad: () &, 98 e & gaor e ¥ geEe g

(1) &, o7 ereAmgeRl W 3y WR S|

.(1) % 1 & 11 ST vEet € (2) % 1 Il SHI AR &

(3) T I W & F T 1] FHAR § (4) T | HEER & F ah 11 9o & |
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(5) MAT-1
In the given question, a statement is followed by two arguments I and II. You
have to decide which of the following arguments is 'strong’ or ‘weak’.

Statement: Continuous and comprehensive evaluation system should be
implemented at school level. '

Arguments: () Yes, it helps in all-round development of the child.
(II) No, it puts more burden on teachers.

(1) Arguments I and II both are strong

(2) Arguments I and II both are weak

(3) Argument I is strong and II is weak

(4) Argument I is weak and II is strong \m
11. ﬁﬁnﬁmﬁwwam@mﬁéw&%aﬁﬁuvﬁ@z T

o O
suT ;e 76 oREw @ SR e ¥

FROT ;A S ST Y @re # AT R R ‘ %
(1) &% 3R SR A TA & FHRT A &

(3) U ITEA ¥ AfHA FRUT T & ( HROT AT AT € | -
In the que's‘tion given below, a statement'is followed by a reason. Choose correct

option for them. - .

Statement : Narmada rive t.

Reason Narmada i in the Bay of Bengal.
(1} ~Statement and reason are true

(2) ~Statement is true ﬁrcason is false

(3) Statementis f;

reason is true

on both are false.

12. fra A & - TR g 9, N o a6 H Ge w9 Wi s ?
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13, A A § FE-E1 a9 e WS 1, FO8 F W §o w8 w9 A wef a2

Which of the following Venn dlagrams correctly rcpresents white colour, clothes
and natural flowers ?

(1) - @

@ | | @ OO0 \
W (14-15) / Questions ( 14-15)
o T 97 amE ¥ 500 o § @ v foawm, wEA fawm ik T Y foe gt

WIeT BT T T YRR €1 89 S % YR W U 14 e 31T |

Out of 500 students, the following Venn diagram repg the number of students
who got Distinction in Physics, Chemistry andgMe subjects. Answer Q. 14 and
Q. 15 based on Venn diagram.

A fam= i famm
Chemistry Physics
nfre
Maths ,
14, i fogm ok g4t & 59 G S o6 Bl e e i, S 3|
g faem faw, T Wit ol afAfed T8 R e 2
How many s got Distinction in both Physics and Maths subjects, when
the stude got Distinction in Chemistry subject is not included ?
(1) (2) 15 3 28 4) 24.
15. T ST STl S i @@ g 2
is the percentage of students who got Distinction in all the three subjects ?
(1) 8% (2) 35% (3) 38% (4) 40%.

WS (16 - 17 ) / Questions ( 16 - 17)
fder : Uv 16 9 17 ® o foehed TRt gfie & @A €, W@WE@W%IW
forehea I F TEl I ferEy |

Direction : In questions 16 and 17 three alternatives are alike in a certain way but
the rest one is different. Find out the odd one and write correct answer.

16. (1) M / Afghanistan (2) 1§ / Kabul
{(3) ¥+ / Spain (4) T / Iraq.
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17.

18.

19.

20.

21.

22.

(7) MAT-1

(1) 1 (@) 729

(3) 144 (4) 64

‘A+BF IT A, BRI &I ‘A B’W:miA Ba%v%r%laapue oaﬁramani
B ? '

‘A+ B 'means A is the son of B. ‘A — B’ means A is the wife of B. Then what does
P+ R- Qmean ?

{1 o pwifre / Qs the father of P
@) Q PRI TAE / Qis the son of P

(3) R QW fuar & / Pis the father of Q
- (4) R;QW‘P'%/Risthesonon. \

TF el 3 & 9RT 3R P, Q, R, S 3R 7AW & &= & aN i & @R,P%a%ﬁ
T AR, AR SFAN AN ATN WA REI T, P S& o | R % =t 31X
TR GARWHAE ?

P, Q, R, S and T are sitting around a circular table fa€ifig €entre to the table. R is
just the right to P and is second to the left of S¢#Pis hot between Pand S. Who is
second to the left of R ? %

1y 0©Q

B T

oo oW o o, > @ o

27>81$9<6F AT FEM 2 *

LS Y 1

If ‘<’ means ~’, ‘>’ means ‘+
value of 27 > 81 $9<6?

2 S
P. '
“+, =N P T B

d ‘¢’ means “+’, then what will be the

(3)‘ 30 (4) 54.

(1) 6
U S IR S-S ﬁﬁﬁ%lﬁ%ﬁ%%ﬂﬁﬁﬂ@?%?
The four dlffere s of the dice are given below Which number is on the
face opposite to
(1) (2) (3) (4)
(y 1 2 2 3 3 (4) 4,

Wsﬁrﬁwmﬁmmﬁwmvﬁﬂ%laﬁzﬁq}gmaﬁwwﬁﬁwﬁﬁ
forar <t 1 3 @ e o9 O ¥ Foment ot wae T @ 2

All faces of a solid cube of edge 8 cm are coloured. It is divided equally in the
cubes of edge 2 cm. How many cubes will have all faces coloured ?
(1 1 (2 O "3 8 @ 4
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23.

24,

25.

26.

27.

28.

ot e Fe o A 'SOLID’aﬁ HLORW'%@TGTHT% aiazﬁyawﬁ ‘GAS’
forar st

In a coded language the word ‘SOLID’ is written as ‘HLORW’, then in the same
code language ‘GAS’ will be written as

(1) THZ , 2 TYI (3) TZH (4) ZHT
fs fordit e w1 | 1= 9 UF GIRL = 46 &, df BOY = ?

Ifin a cel"tajn code I = 9 and GIRL = 46, then BOY =?

(1) 37 (2) 39 @ 24

a&m,mﬁ%gﬁgﬁaﬁqta}mww&mm
jana related to

If Ranjana is the sister of the.son of Sohan's so

Sohan ?

(1) P/Daughter | )

(3) WH/Granddaughter (4) ncle.

aﬁ:mﬁwaﬁ@mmﬁw maﬁaﬁwaﬁﬁwﬁwm

SR ?

‘If North direction is called Ea direction is called West, then what will

be called North-East dire ’

(1) W 131\7>i‘/North tfﬁiElf:‘H"T/I'Jast-South

(3) C) m—qﬁﬂﬂ/North-Wcst.
Wm%ﬁﬁﬁw@ﬁﬁ,ﬁﬁﬁﬁﬁ? 28 2

Ho s of successive numbers have a difference of 2 in the following
? e

6,4, 42,2,8,7,4,2,7,5,3,8,6,2,1,7,0,4,1,3,2,8,6 |
1y 4 @ s (3) 6 @ 7
frfafaa =t seqel v & afted S

‘A— % B_ PRA G C— fafe@® D— @R E— WA @™

Arrange the fqllov(ring ina meanihgful sequence :

A — Medicine B — Diagnosis C — Doctor =~ D— Fever E— Recovery |

(1) DCABE 2) DECAB (3) DCBAE (4) CDBAE.
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(9) MAT-1

29, e T fawedt § @ o WE (2 ) B WA SIQ, FTatw dH SAepiad o wHE e
ST AT B

Find the missing number ( ? ) from the given alternatives, when same rule is
applied in all three situations.

5 21 | s1

16 |109]| 2 22|53]19 17| »? | 48

6 15 13
(1 7 {2) 25 (3) 49 (4) .
30. Tt wehr & @Us’ I@F QU @ Gefum , 36 weR U 9 L ¥ Heifea
BT 2
‘As ‘part’ is related to ‘whole’, in the same way an ‘Arc ed”to which of the
following ?
(1) 34/ Rectangle (2 Q)
(3) POs/Triangle e.
WS (31 - 34 ) / Questions ( 31 - 34
ﬁ%w:w—mﬁawﬁ?aa‘f%z‘tw%ﬁ = wer-fag o T At S
wed & FEeEn-fat us FH A Uk &1 o SRR # # O W
THTe AT &, S TEE-fee ® | wEt I-fam =l g

Direction : In questions 31 to her® are two sets of figures. One set contains
problem-figures while the othe has amswer-figures. There is a sequence according to
which the problem- ﬁgures ar&ranged. You have to select an answer-figure which
problem-figures. Choose the correct figure.

I-Fa / Answer-figures

[ 1AL O

(1 (2 3 @

32. wow-faa ./ Problem;ﬁgures W—Fﬂﬁ / Answer-figures
(A) (B) (C) (D) (1) 2) (31 (4)
33. W%ﬂ / Problem-figures I-T9T / Answer-figures
(A) (B) (C) (D) (1) (2) (31 (4l
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34, W%ﬁ' / Problem-figures Sae-fe / Answer-figures
. a o g A ;
R r l_ s | l
- ) . la O OjA_ O] AD
(A) (B) (c) (D) , 1) (2 @ g

WS (35-38 )/ Questions ( 35 - 38 ) o

frdwr : v 35 9 38 9 ww ¥ OR fum R A ¥ ol @ o R o Rt @ e @ @ B

39 Jet o & g | : '
Qh. One of these

does nof correlate with the rest of the figures. Select that odd

. |C|J|S |U \0
1 @ @ @ %C)

oy ]

M @ @ @

i

(1]

birection ¢ In questions 35 to 38 there are four figures

36.

37, @ W

2) (3) (4)e \E
38. A'L‘ Vﬂ AL

uH (39 4 ons (39-40) _
@oﬁﬁﬂ%a@%mvﬁﬁmuﬁﬁwmﬁﬁq Gﬁmﬁwi‘rﬂéwﬁr%

Diﬂﬁ In questions 39 and 40, find the correct mirror image of the glven figure,
when mirror is placed on right side of the figure.

39. STOP
(1) eTod (20 90T2 (3) d9TO®8 (4) POTS
40. W—Sﬂ'@'ﬁ-{ / Question-image | W-H@‘Fﬁ / Answer-image
olt] \ tialiviolidloflt]o
ojA ' olol|¢|O]|V]|O||AlO

@ @B 4
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| (11) MAT-1
¥ ( 41 - 42 ) / Questions (41 - 42)
e : w1 41 7 427 & T art = W@ e shifwa W Fif
Direction : In questiéns 41 and 42 select the correct ﬁvater image of the given figure.

41. WH-3FH / Question-figure

Do n Dim o®~0

42. W—W?ﬁ-l’ / Question-figure

X7TW4

IW-3MHaAT / Answer-figures

1) Ximd (2) X7TM4 XAWt 4 Ximt
WY (43 - 44) / Questions ( 43 - 44) %
L .
e : o atER aRERt Ye J o fort farg T & arafier AT 9, o T
W 17 Aol Sehfa SwR-3Teha 9 '

Direction : A square t_ranspﬁ sheet with a pattern is folded along the dotted line.

Which of the following amQt res is formed after folding the transparent sheet ?
43, RE U / Tra\ . sheet W-f‘ilﬂ‘/ Answer-figures
; ~ , _:
c' I : o I
1. . J
(1) (2) (3) (4)
44, qRESH 99 / Transparent sheet W-ﬁlﬁ /| Answer-figures

(1) (2) (3) 4)
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MAT-1 | (12)
U3 (45-46) l Questions ( 45-46)

Py + it fog o For e S SR @ E B e e (Wi &) v IR sy o
¥ 3 39 WE IF B W |

Direction : In the following figures there is a question figure, which is embedded in
one of the answer-figures. Trace out the cdrrect figure.

45. W¥A-3TH / Question-figure | ITR-SFHAET / Answer-figures
(1) (2)
46. W—W?ﬁ'f / Question-figure . W—SW nswer-figures

(2) (3) -4

47. ®H-91 SR-Fom &K@ ™ Afge-faaant

Which of the answer-figures co k

Ruiinm|
\® NI
O™ [a[

8 aﬁzo*i180@?4*5=1o(2)3’r,a’r7*7$m:;rm-? i

?

given matrix figure ?

If20 * 3 = 180 and 4 * 5 = 100, then what is the value of 7 * 7 ?

(1 21 ‘ 2 49 (3) 343 4 7.
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(13) MAT-1
49, A & 7 ARpfa | @t Sl WA ARy |

Determine the number of squares in the following figure :

1) 14 @ 9 | 3) 10 16.
50. ﬁﬁﬁﬂﬁﬁﬂﬁww@aﬁaﬁmm' Q\

How many cubes are laid on a plane as shown in the following

1 14 2 12 10 4) 8.

S

%
/\Q’O\
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